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2009 (Odd)

Time : 3 Hrs.

Full Marks  : 80
Pass Marks : 26

Answer all 20 questions from Group-A, each question carries 1 mark.

xzqi&A ls lHkh 20 iz'uksa ds mÙkj nsaA izR;sd iz'u dk eku 1 vad gSA

Answer any four questions from Group-B, each question carries 5 marks.

xzqi&B ls fdUgha pkj iz'uksa ds mÙkj nsaA izR;sd iz'u dk eku 5 vad gSA

Answer any five questions from Group-C, each question carries 8 marks.

xzqi&C ls fdUgha ik¡p iz'uksa ds mÙkj nsaA izR;sd iz'u dk eku 8 vad gSA

All parts of question must be answered at one place in sequence,

otherwise they may not be evaluated.

,d iz'u ds lHkh va'kksa dk mÙkj ,d gh txg ¼yxkrkj Øe esa½ gksuk

pkfg,A vU;Fkk] os ugha tk¡ps tk ldrs gSaA

The figures in right hand margin indicate full marks.

ik'oZ ds vad iw.kk±d ds lwpd gSaA

SemIII-G
Comp.Prog. "C"

2

GROUP-A

1. Write down the most correct answer from the following

questions out of the four alternatives given :    1×20=20

fuEufyf[kr iz'uksa ds fn;s x;s pkj fodYiksa esa ls lokZf/kd lgh mÙkj

fy[ksa %

(i) Who is the developer of 'C' language ?

(a) Hawkins (b) D. Ritchie

(c) T. Vaughan (d) C.Babbage

'C' Hkk"kk ds fodkldÙkkZ dkSu gSa \

(a) gkWfdUl (b) MhŒfjph

(c) VhŒokmxu (d) lhŒckostA

(ii) What is the range of signed integer ?

(a) 0 to 65535

(b) 0 to 255
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(c) –32768 to +32767

(d) – 128 to 127

lkbUM baVhtj dk {ks= fdruk gS \

(a) 0 ls 65535

(b) 0 ls 255

(c) –32768 ls +32767

(d) – 128 ls 127

(iii) How many keywords available in 'C' ?

'C' esa fdrus dh&oMZ miyC/k gSa \

(a) 16 (b) 32

(c) 64 (d) 128.

(iv) Which of the following is 'C' compiler ?

(a) Turbo C (b) JDK 3.0

(c) Oracle 9i (d) Visual Studio 6.0.

4

fuEufyf[kr esa dkSu 'C' dk dEikbyj gS \

(a) VcksZ C (b) tsŒMhŒdsŒ 3.0

(c) vksjsdy 9i (d) fotqvy LVwfM;ks 6.0

(v) What is the combination of keys for compilation

and execution of a program ?

fdl pkHkh ds lewg }kjk izksxzke dks dEikby vkSj dk;kZfUor

fd;k tkrk gS \

(a) Alt + F5 (b) Ctrl + F9

(c) Alt + F9 (d) Ctrl + F5.

(vi) What is the meaning of "&&" operator ?

(a) Logical OR (b) Unary

(c) Logical AND (d) None of these.

"&&" vkWijsVj dk D;k vFkZ gS \

(a) ykWftdy OR (b) ;wujh

(c) ykWftdy AND (d) buesa ls dksbZ ughaA
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(vii) What is the memory required for single character

in computer ?

(a) 1 byte (b) 2 bytes

(c) 4 bytes (d) 8 bytes.

dEI;wVj esa ,d dSjsDVj ds fy, fdruh eseksjh dh vko';drk

gksrh gS \

(a) 1 ckbV (b) 2 ckbV~l

(c) 4 ckbV~l (d) 8 ckbV~lA

(viii) What is the meaning of "strcmp()" function ?

(a) Copy one string to another

(b) Compare two strings

(c) No. of characters in string

(d) None of these.

"strcmp()" QaD'ku dk D;k vFkZ gS \

(a) ,d fLVªax dks nwljs esa dkWih djuk

(b) nks fLVªaxksa dh rqyuk djuk

6

(c) ,d fLVªax esa dSjsDVj dh la[;k

(d) buesa ls dksbZ ughaA

(ix) What does "--i" indicate ?

(a) Increase

(b) Decrease

(c) No change

(d) None of these.

"--i" D;k n'kkZrk gS \

(a) c<+ksrjh

(b) ?kVksrjh

(c) dksbZ cnyko ugha

(d) buesa ls dksbZ ughaA

(x) What "scanf(....)" shows in program ?

(a) Enter a single character from standard

input device

(b) Enter data items to standard input device
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(c) Return value

(d) None of these.

"scanf(....)" izksxzke esa D;k n'kkZrk gS \

(a) buiqV midj.k }kjk ,d dSjsDVj dks izfo"V djkuk

(b) buiqV midj.k }kjk MkVk dks izfo"V djkuk

(c) oSY;w dks okil djuk

(d) buesa ls dksbZ ughaA

(xi) "Sqrt (d)" defined in which header file ?

"Sqrt (d)" dks fdl gsMj Qkby esa ifjHkkf"kr fd;k

x;k gS \

(a) conio.h (b) stdio.h

(c) math.h (d) graphics.h

(xii) What is the base of hexa-decimal number

system?

gsDlk&Msfley uEcj flLVe dk csl D;k gS \

(a) 2 (b) 8

(c) 10 (d) 16

8

(xiii) Set of instruction that perform a particular task

is called :

(a) Program (b) Process

(c) Algorithm (d) Flow-chart.

funsZ'kksa dk lewg tks ,d fo'ks"k dk;Z dks dk;kZfUor djrk

gS] mls dgrs gSa %

(a) izksxzke (b) izkslsl

(c) ,Yxksfjn~e (d) ¶yks&pkVZA

(xiv) ANSI stands for :

ANSI dk vFkZ gS %

(a) American National Standards Institute

(b) Asian National Standards Institute

(c) African National Standards Institute

(d) Arabian National Standards Institute.
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(xv) What is the general form of "for loop" ?

"for loop" dk lk/kkj.k :i D;k gS \

(a) fo r  ( expr ession 1 ; expr ession 2 ;

expression 3) statement.

(b) for (statement) expression

(c) while (expression 1; expression 2;

expression 3) statement.

(d) while (statement) expression.

(xvi) .............. is a self-contained block of statement

that perform a coherent task of some kind.

(a) Function (b) Array

(c) Pointer (d) Structure.

.............. LVsVesaV ds lsYQ dUVsaV dk lewg gS tks ,d

dksgsjsUV VkLd ds dqN izdkj dks laikfnr djrk gSA

(a) QaD'ku (b) ,js

(c) IokbaVj (d) LVªDpjA

10

(xvii) A C program include an integer variable "i"

whose initial value is 5. What is the output of

following statements ?

C ds izksxzke esa ,d "i" baVhtj osfj,cy ysrs gSa ftldk

izkjafHkd oSY;w 5 gSA fuEufyf[kr LVsVesaV dk vkmViqV

D;k gS \

printf ("i = %d\n," i);

printf ("i = %d\n," i++);

printf ("i = %d\n," i);

(a) 5, 6, 6 (b) 5, 5, 6

(c) 5, 5, 5 (d) 5, 5, 4

(xviii) How many bits in one nibble ?

,d fuCcy esa fdrus fcV~l gksrs gSa \

(a) 16 (b) 8

(c) 4 (d) 2
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GROUP-B

Answer any four of the following questions : 5×4=20

fuEufyf[kr esa ls fdUgha pkj ç'uksa ds mÙkj nsa %

2. Draw a flow chart to search whether the given integer is

palindrome or not.                                                     5

,d flow pkVZ [khapsa tks nh x;h la[;k dks lpZ djs fd og isfyuMªkse

gS ;k ughaA

3. Write a program to calculate the GCD of two number.  5

nks la[;kvksa dk GCD fudkyus dk ,d izksxzke fy[ksaA

4. Write a program to produce the following output :       5

,d izksxzke fy[ksa tks fuEufyf[kr vkmViqV dks n'kkZrk gS %

1

2     3

4     5     6

7      8       9      10

11

(xix) What is the output of following program ?

fuEufyf[kr izksxzke dk D;k vkmViqV gksxk \

main ()

{

int a, b = 0;

static int c[10] = {1, 2, 3, 4, 5, 6, 7, 8, 9, 0};

for (a = 0; a < 10; ++a)

if ((c [a] % 2) = =  0) b+ = c [a];

printf ("%d", b);

}

(a) 15 (b) 20

(c) 25 (d) 50

(xx) "scanf (...)" is defined in which header file ?

"scanf (...)" dks fdl gsMj Qkby esa ifjHkkf"kr fd;k

x;k gS \

(a) conio.h (b) stdio.h

(c) math.h (d) graphics.h.
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5. What is a function ? State three advantages to the use of

function.                                                                  5

QaD'ku D;k gS \ QaD'ku ds mi;ksx dh rhu fo'ks"krk,¡ crk,¡A

6. What is recursion ? Write an algorithm for solving tower

of hanoi problem.                                                               5

Recursion D;k gS \ Vkoj vkQ guksbZ dfBukbZ ds fu"iknu ds fy,

,d ,yxksfjn~e fy[ksaA

7. What is an operator ? Explain any two operators used

in C.                                                                           5

vkWijsVj D;k gS \ C esa mi;ksx fd;s x;s fdUghas nks vkWijsVjksa dh

O;k[;k djsaA

8. What is a debugger ? What special features are made

available by debugger ?                                            5

Debugger D;k gS \ Debugger }kjk D;k fo'ks"krk,¡ miyC/k djk;h

tkrh gS \

14

GROUP-C

Answer any five of the following questions : 8×5=40

fuEufyf[kr esa ls fdUgha ik¡p ç'uksa ds mÙkj nsa %

9. What do you mean by machine language ? How it differs

from high-level language ? What are the advantages of

using high-level language ?                                             8

e'khuh Hkk"kk ls vki D;k le>rs gSa \ ;g fdl izdkj mPp Js.kh Hkk"kk

ls fHkUu gS \ mPp Js.kh Hkk"kk ds mi;ksx dh D;k fo'ks"krk gS \

10. What do you mean by compilation and interpretation ?

How they differ to each other ?                                    8

dEikbys'ku vkSj bUVjizsVs'ku ls vki D;k le>rs gSa \ ;s fdl izdkj

,d nwljs ls fHkUu gSa \

11. What is the general form of 'do-while' statement ? Explain

it with suitable program.                                          8

'do-while' LVsVesaV dk lk/kkj.k :i D;k gS \ bldh mfpr izksxzke

ds lkFk O;k[;k djsaA
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15. What do you mean by an algorithm ? Write an algorithm

of finding square root of a quadratic equation.             8

Algorithm ls vki D;k le>rs gSa \ f}pj lehdj.k dk oxZewy

fudkyus dk ,d algorithm fy[ksaA

16. How can structure variables be declared ? How do

structure variable declaration differ from structure type

declaration ?                                                          8

LVªDpj osfj,cy dks fdl izdkj fMfDy;j fd;k tkrk gS \ LVªDpj

osfj,cy fMfDy;js'ku fdl izdkj LVªDpj Vkbi fMfDy;js'ku ls

fHkUu gS \

15

12. What is union ? How a union differs from a structure ?    8

;wfu;u D;k gS \ ,d ;wfu;u fdl izdkj ,d LVªDpj ls fHkUu

gksrk gS \

13. Write a program to generate the following pyramid of

digits.                                                                       8

fuEufyf[kr fMftV ds fijkfeM ds fuekZ.k dk ,d izksxzke fy[ksa %

1

1    1

1     2     1

1      3    3      1

1       4      5     4      1

14. What is 2-Dimensional array ? Write a program of

addition of two 2-D array tables.                                8

2-D Array D;k gS \ nks 2-D array Vscy dks tksM+us dk ,d izksxzke

fy[ksaA
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